FAXIES
_1:0_’ E
A x%+y% —4x+6y

(13 2 9:' %}I\—
A9 WA rolet T, r

D S
5'7



FHE @+’ +y? =1, 4+y*—6x-6y+2 =09 F5HAH

@ 074 @ 174 @ 270 @ 37 ® 47



A (a+2)x+(a-1)y-3=00°] ¥ 2x?+2y> —4x+8y+3=09]

HolE ole2d W, a9 27

® -1 @ 0 ®1 @ 2 ® 3



Yt o] 919] A5 AB $19] 49 C

1

? 7 P2 A1 PO o7t o] ¥
2] Zoj9} oA E% @ CD & Frh.
AP =a, BP =b 2t T o, A& DP 2] Zo]

A B
= a, b 5 AA HEHH? w
D
a+b

@ 5 @ a+b ® Vab
2ab
a+b

@ ab ®




7te] 2717}

rr

5.  (k, 0)°llA x2 4+ y* =2y = 0°f] 12 F HAo] o]F
45°d ), 4 ko] gts ok

D k=-V2+1 @ k=V2+1 ® k=+V2-1
@ k=2V2+1 ® k=+vV2+2



